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1. 18 students are randomiy divided into three experimental groups A, B and C each group
consisting of 6 students. The scores of the final test given to each of the three groups are
given below. Test by the analysis of variance whether average performances of the groups

are significantly different or not.

Group-—-A Group-B  Group -C
51 50 46
50 46 43
49 50 39
51 44 40
49 44 55
51 49 49
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gU-A 13 11 12 12 9 11 8 10 7

AU-B 15 9 20 16 11 12 14 13 10 13
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2. Explain the concept of analysis of variance and state the assumptions underlying it. The

scorcs of three groups ¢ of 1 students are given i 2 bular Iorm Fing g

value of F and give your interpretation.

Group-A 13 11 12 12 9 11 8 10 7

Group--B 15 9 20 16 11 12 14 13 10 13

Group-C 9 12 14 10 8 6 7 9 8 11

&L ogal A B ufBricel it 508 2] wudel Fel wReul A Yo 9.
-1 110 112 95 105 111 97 112 102
oA-2 115 112 109 112 117
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3. Two groups of subjects are given a personality measurement test and the results of the test are ..

Group-1 110 112 95 105 111 97 112 102

Group-2 115 112 109 112 117

Test whether there is a significant difference between two groups by analysis of variance.

Also test the signifies difference between two groups by using t-test.
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4.

Some students of std-X are given a spelling test after giving them a remedial education and the other
of std-X students are given the same test without a remedial education in english language. The

frequency distribution of scores obtained by two groups of students in the test are given below.

Scores in spelling test Class 0-4 5-9 10-14 15-19 20-2425-29 Total

Group with remedial course Freq. 2 3 5 15 20 5 50

Group without remedial course Freq. 7 16 15 23 25 14 100




=335 -

5. Al sl 2us? ugrsife s wsdoiis oell 23 0.05 daL 0.01 saus) R vicrie dlHl.
—
Ye-X
AG-Y A (st
YL 35 25
Ay 10 30
L
5. Compute tetrachoric correlation coefficient form the following categorized data and obtain its 0.05
and 0.01 contidence interval.
Variable-X
Variable-Y Successful  Unsuccessful
Socially well Adjusted 35 25
Bocially poorly adjusted 10 30
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6. 465 students are given achievement test as well as intelligence test. The scores of these two tests are
divided into two categories on the basis of the mean scores of these two tests and the categorised data is
presented in the table given below. Find the terachoric correlation coefficient between the scores of two
tests and give your interpretation.
Achievement Test
High Achievement Low Achievement
Intelligence High 187 83
Test Low 93 102
L
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Explain the concept of a factorial design.
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What are the circumstances or situations under which the use of analysis of covariance is made ?
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I For achievment test of English a spelling test as well as a grammer test were given to 10

students and the scores received by them are recoreded below :

Score in spelling test : 25, 28,19, 25,28, 22,25, 26, 24, 32

Score in grammer test 22,125,120, 26, 28, 20, 22, 23,22,29

Determine which of the two test is better for achievement test of English by using the sign test.
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2. 10 students of std VIII-A and § students of std-VIII-B of a school are given a test of language
ability. The scores obtained by them are as follows :
Scores by students of std VIII-A - 30, 37,53, 45, 44, 49, 42, 40, 25, 26
Scoress by students of std VI{I-B - 30, 37, 34, 32, 39, 35, 29, 36
Test whether there is any difference between language ability among studenis
of std-VIII-A and std-VIII-B by Mann-Whitney U-test.
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An achievement test is given to 12 postgraduate and 16 under graduate students and the scores
obtained by them are given below : Test wether the performance of post-graduate students is

better than that of under graduate students by the median test.

Scores of PG Students : 43, 54,51, 55, 57, 58, 60, 61, 63, 64, 65, 67

Scores of UG Students : 40, 45, 45, 60, 68, 65, 48, 47, 48, 68, 50, 57, 53, 55, 56, 57
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The validity coefficient of a test of 100 items with a given criterion is 0.60, and the reliability
coefficient of the test is 0.70. If the number of items of the test is increased to 150 then find the new

validity coefficient and the new reliability coefficient.
A5 lsicd Hud s Rauzlladl 0.58 9. 4l dous sedl auiRdl ASA 3 ¥l A Rauu-llud
0.75 aiy.

The reliability coefficient of a personality measurement test is 0.58. To what extent should the

length of the test be increased so as to achieve the reliability coefficient of the test as 0.75.
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R Rngticdl
Sgall 1 2 3 4 5
1 -1 -1 -1 0 -1
2 0 -1 -1 -1 0
3 ~1 -1 -1 -1 -1
4 -1 -1 -1 0 -1
5 +1 +1 +1 +1 +1
6 -1 0 -1 -1 -1

50 items are constructed for a test to measure 6 different educational objectives. Five subject experts
gave ratings to these items wilh respect to congraence with the objectives. The ratings for congruence
of item no. 5 with objective no. 5 and congruence with respect to other objectives are given in with

respect to other objectives are shown in the following table:
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Subject Lxperts

Objective 1 2 3 4 5
1 -1 -1 -1 0 -1
2 0 ~1 ~1 —1 0
3 -1 -1 -1 -1 ~1
4 -1 -1 -1 0 -1
5 +1 +1 +1 +1 +1
6 -1 0 -1 -1 -1
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1. State any one assumptions of X2-test.
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2. State any one advantages of non-parametric method.
3. RrUSHL SIS B aret oudl.

3. State any one advantage of stanine score.
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4. State the formula of split-half reliability method.
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Semester-1I1
C 107 : Pedagogy of Curriculum and Assessment

Time : 2 Hours Total Marks : 50
Section-I
Que ~ 1 (A) Answer the following questien.(Any Three) @1

1. Discuss the principle of curriculum development.
2. Discuss the types of curriculum.
3. Discuss the sociological foundations of curriculum.
4. Discuss the framework of curriculum development.
5. Discuss the components of curriculum design.
6. Discuss the dimension of curriculum design.
Que ~ 1 (B) Answer the following question in short. (Any Two) (04)
1. State meaning of curriculum.
2. State role of teacher for development of curriculum.
3. What is hidden curriculum ?
4. State any one approach of curriculum design.
Section-11
Que —2 (A) Answer the following question. (Any Three) ¥3))
1. Discuss the structure of curriculum material.
2. Discuss classroom climate for curriculum transaction.
3. Discuss the infrastructure facilities of curriculum transaction.
4. Discuss instructional design.
5. State the role of ICT for curriculum transaction.
6. Clarify the relationship between curriculum transaction and interaction.
Que -2 (B) Answer the following guestion in short. (Any Twe) (04)
L. State minimum requirement for transaction of curriculum,
2. State any one illustration of materials.
3. State any one limitation of curriculum transaction.

4. What is communication?






